14
15
16

17

55

(22)K20/25
" (31)K30

‘ \;Ef’;:;zzxwzs

e (4) 31K30

(13) (9) (8) 41 (13)43 44 54 53 62

/ 1 Z\At_T\ R ‘%:\
S ‘{\»L__' i
—é ) e
= ——) p——— 1 :
I 'vnl g




Filter * not illustrated

ltem Description NO
1 |high pressure (hp) water seperator complete 27.10.00
2 |seperator head 27.10.01
3 |screw adapter 21.20.21
4 |gasketring 12.92.31
5 ([filter body with flange and stud bolts 27.10.03
6 |[stud bolt M 22 x1,5for27.10.03 27.10.04
7 |hexagonnutM 22 x 1,5 27.10.05
8 ([filter tube with shutter 27.10.06
9 |filter inset with felt gaskets item13 27.10.07
10 |disk 27.10.08
11 |distance bush 27.10.09
12 |gasketring60x75x3 27.10.10
13 |felt gasket for 27.10.07 27.10.11
14 |gasketring A 22 x 27 (copper) 7.10.11
15 |cockvalve R 1/2" 21.25.00
16 |[solder tube with nozzle 27.01.42
17 |union screw R 1/2" 27.10.12
21* |GEL - filter up to 250 bar complete 27.15.00
22 (filter bottle up to 250 bar 27.15.01
23 |screw adapter with grip plate complete 27.15.02
24 |screw adapter complete 27.15.03
25 |sieve tube I=77 mm for 27.15.02 27.15.04
26 |[sieve tube [=26 mm for 27.15.03 27.15.05
27 |brass wire 0,8 mm 27.15.06
28 |ballknob M 10 for 27.15.02 / 27.17.02 27.15.07
29 |[SILIKAGEL -filling 27.15.08
30* |GEL - filter up to 300 bar complete 27.16.00
31 (filter bottle up to 300 bar 27.16.01
34* |GEL - filter up to 250 / 300 bar complete - currently! 2717.00
35 |screw adapter with grip plate complete 211702
37* |Gel Filter kompl. bis 300 bar 27.18.00
40 [high pressure (hp) dehydratot complete 27.20.00
41 |dehydrator body 27.20.01
42 |filter holder complete 27.20.02
43 |[square nut 27.20.03
44 |split pin 2.10.15




Filter * not illustrated
ltem Description NO
45 |gasketring60x63x1,5 7.13.02
46 |hexagon screw M 8 x 12 14.70.35
47 |gasketring A8 x 14 (copper) 5.11.03
48 |hollow screw M 8 13:11.19
49 (double hollow screw M 8 16.80.55
50 ring piece 1310117
52 fitting for tube 16 x 3 21.21.00
53 union nippler with inner thread M 16 x 1,5 21.21.01
54 unionnutR 1" 21.21.02
55 tube fitting with ventilation bore 27.23.00
56 union nut R 1" with ventilation bore 27.23.02
57 tube fitting for tube 16 x 3 27.23.10
58 union nipple for bottle support theraded inside M 16 x 1,5 27.23.11
59 tubr fitting for tube 18 x 3 12.92.28
60 tube fitting for tube 16 x 3 129232
61 T - type fitting threaded inside M 16 x 1,5 for tube 16 x 3 27.23.15
62 Hochdruck - Prazisions - Stahlrohr (bei Bestellung Lange angeben) 12.92.52
63 high pressure valve complete 21.20.00
64 power double check valve complete 15.20.00
power check valve complete 15.22.00
65 cut out valve up to 250 bar 16.80.10
cut out valve up to 300 bar 16.80.20
66 pressure retaining valve complete 17.20.00
67 pipe - stand pipe to high pressure (hp) seperator 27.23.16
68 pipe - high pressure seperator to valve of filter bottle 272317
69 air pipe - valve to filter bottle 27.23.18
70 pipe - filter to shut off valve 27.23.19
71 pipe - valve to high pressure dehydrator 27.23.20
72 pipe - high pressure dehydrator to pressure retaining valve 2712321




	27_Filter_02
	27_Filter_ET1_02
	27_Filter_ET2_02

